No. 814		Breakdo	wn of Un	it Price	Total Control			
Work:	Expansion i	joint, for pedestrian brid	ioe					
Unit price :		342.00		dinaminate de la constitución de	1/0	46.00	SiSEAin on	· ·
om pike.	The state of the s	388.00	aarin HCC	/lin m)	170_	40.00	O S S (III : III	*
Donastos	(1011)	· 00.00C	equiv.oss	eran)				
Remarks:						Plan Commun.		
	10	m basis	gradata, se osep sy.		in and other Balls leading bloodings	artination of manifestation institution, and attacked as		
		TO CONTRACT OF THE PROPERTY OF		1		@#####################################	12 ** 2 C #1 #1 # 10 0 0	
Particular		Description	Unit	Q'ty		rtion (USS)		tion (US\$)
	THE SECOND PROPERTY AND		**********		Unit cost	Amount	Unit cost	Amount
1 Labor	* * * * * * * * * * * * * * * * * * * *		i					
a) Foreman			m.d.	1.00		0.00	10.00	10.00
b) Skilled labor			m.d.	5.00		0.00	6.74	33.70
c) Common Labor			m.d.	5.00		• 0.00	4.70	23.50
sub-total 1		11				0.00		67.20
2 Material						· · · · · · · · · · · · · · · · · · ·		
a) Expansion joint		pedestrian	lin.m	10.00	271.18	2,711.80	30.14	301.40
b) Miscellaneous		5%	L.S.	1.00		135.59		15.07
sub-total 2						2,847.39	······································	316.47
300-101312	· · · · · · · · · · · · · · · · · · ·					2.077.57		310.47
								
3 Overhead		20%	LS.	1.00		569.48		76.73
3 Overneau		20 AF	L.3.	1.00		309.40		70.13
			·			244600		460.40
Total for	10	m	· · · · · · · · · · · · · · · · · · ·			3,416.87		460.40
	- 2							
Unit price	· · · · · · · · · · · · · · · · · · ·					342.00		46.00
		:				· · · · · · · · · · · · · · · · · · ·		
	· · · · · · · · · · · · · · · · · · ·							<u> </u>
, <u></u>			· .					
					<u></u>			
		<u> </u>	<u> </u>					
					i .			
:				·				
			·					
				:		:		
l								
					:			
·	: :	* :						
	1 1		l			:		
			 -					
			 	·	1.45			
	<u> </u>	 	ł		 			
			<u>-</u>					
ı		1	I	I	I .		7	t .



No. 815		Breakdown of Unit Price		·	
Work:	Guard rail, concrete pos	1			
Unit price :	F/C	3.09 US\$/m	1/C	2.07 US\$/m	
	(Total	5.16 equiv.US\$/m)			
Remarks:	100 m basis	3 m interval	Eleftičnih Wilherministranianian ana may yandi		
	0.067 cu.m/no. bas	iis			

	Particular	Description	Unit	Q'ty		rtion (US\$)	L/C Porti	on (US\$)
			×200000 ×2000		Unit cost	Amount	Unit cost	Amount
	Concrete, type 2		cu.m	2.23	61.06	136.16	27.66	61.6
		(Ref.to No.502)				·		
_						4		
	Foemwork, F2		sq.m	9.40	2.54	• 23.88	8.75	82.7
_		(Ref.to No.507-2)						
_			1					
	Reinforcing bars		kg	223.00	0.54	120.42	0.20	. 44,
•		(Ref.to No.508)	 -					
_								
	Installation	10%	L.S.	1.00	7	28.05		18.8
_		(10% of 1 to 3)						
-			:					:
	1							
:	Total for 100	m				308.51		207.
_	100		-					
	Unit price for 1 m					3.09		2.0
-	Osses piece to a m							
						·		
-								
_								
-								
					f — — — ·			
								
-			· · · · · · · · · · · · · · · · · · ·					
								
			 -					
_								
_				l				
_	·		· · · · · · · · · · · · · · · · · · ·					
-			:					
	. 							
-						· · · · · · · · · · · · · · · · · · ·		
-			٠			:		
-								
			=					
_				ļ ———			 	
								
				L				and the section of th



No. 816	**************************************	Breakd	own of Un	it Price				
Work:	Demolishing	z, hauling and disposin	g steel mei	mbers	محدمان ومنتبطات فطان فالمنت بالإس والمنتات			
Unit price :		16.60	US\$/ton		1/C	46.20	US\$/ton	
	(Total		equiv.USS	i/ ton)				
Remarks:	gm	and a series and transfer are an advantage of the first of the series of					e paramentaria de la constanta	
	Hauling dist	ance: 15,000 m	**************************************	4	ton basis	er, naeuwiene beschiedersteine	COLUMN CO	
Particular		Description	Unit	Q'ty	F/C DA	tion (USS)	<i>l./C</i> P∧et	ion (USS)
Falticular		Description	Om	4.9	Unit cost	Amount	Unit cost	Amount
1 Labor	Tales and the second					**************************************		
a) Foreman			m.d.	2.00		0.00	9.28	18.56
b) Operator A			m.d.	0.65		0.00	10.60	6.89
c) Operator B			m.đ.	0.45		0.00	7.28	3.28
d) Welder			m.đ.	8.00		0.00	9.28	74.24
e) Common labor			m.d.	8.00		0.00	4,64	37.12
sub-total I						0.00		140.09
2 Material								
a) Light oil			lit	46.40	0.16	7,42	0.04	1.86
b) Eubricant		20 % of a)	LS.	1.00		ì.48		0.37
sub-total 2						8.90		2.23
3 Equipment								
a) Truck crane hyd	I.	15 t	hr	3.00	13.34	40.02	3.33	9.99
b) Dump truck		81	hr	1.36	4.90	6.66	1.23	1.67
sub-total 3			1			46.68		11.66
4 Overhead		20%	L.S.	1.00		11.00		31.00
								<u></u>
Total for	4	ton basis				66.58		184.98
Unit price for I	ton				 	16.60		46.20
			 	ļ				
<u> </u>				<u> </u>				
·			 		<u> </u>			
		·	<u> </u>	<u> </u>				
·	··		<u> </u>		·			
	.,		ļ	<u>.</u>			1	
]	<u> </u>		ļ	
	· 		1	<u> </u>				
	· · · · · · · · · · · · · · · · · · ·		1	 				
			ļ		<u> </u>			<u></u>
<u> </u>								
. <u></u>	<u> </u>		-	<u> </u>		· · · · · · · · · · · · · · · · · · ·		·
	·			 	ļ <u> </u>			
]	<u> </u>				
			1	<u> </u>		7 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		
				1	:		14	





No. 901		Breakdo	own of U	nit Price			,	
Work:	Furnishina	and installing traps						
Unit price :	E(A)	Andrea or Agreement of the Control o	USS/kg	******	1/0	0.35	IICCA A	
om pice.	(Total		equiv.US:	የ /ኒልነ	uc.	0.33	OSSIK	
Remarks :	I ton basis	U.72	equiv.os.	J/Kg)			6.	
Atmarks,	1 (011 04313	- M-1-1-1		Continued at the street man Technic Chines	description and some or space of	CONTRACTOR PROPERTY.	******************************	
	The second secon		TO SECURE AND ADDRESS OF THE PERSON ADDRESS OF THE PERSON AND ADDRESS OF THE PERSON ADDRESS OF		in the state of th			
Particular		Description		04.	resumen	(1106)	T // Th	
Particular		Description	Unit	Q,tλ	Unit cost	tion (US\$)	Unit cost	tion (US\$)
Labor	***************************************	a an an			OTHE COST	Amount	URII COST	Amount
				1.00			0.00	
a) Foreman			m.d.	1.00		0.00	9.28	9.28
b) Mechanic		· · · · · · · · · · · · · · · · · · ·	m.d.	5.00		0.00	7.28	36.40
c) Welder			m.d.	10.00		0.00	7.28	72.80
d) Steel worker			m.d.	15.00		0.00	7.28	109.20
sub-total I	·					0.00		227.68
								
2 Material								
a) Reinforcing bar		deformed	kg	1,030.00	0.43	442.90	0.05	51.50
b) Miscellaneous		3%	L.S.	1.00		13.29		1.55
sub-total 2						456.19		53.05
<u></u>								· · · · · · · · · · · · · · · · · · ·
3 Overhead		25%	LS.	1.00		114.05		70.18
		· · · · · · · · · · · · · · · · · · ·						
Total for 1 ton						570.24		350.91
			····	<u> </u>		<u> </u>		
Unit price for 1	kg		-			0.57		0.35
			* 45					<u></u>
1						<u> </u>	1 1 1	
<u> </u>					- : -			
· · · · · · · · · · · · · · · · · · ·								
·								• •
_ 								·
		······································						·
	;							
								· · · · · · · · · · · · · · · · · · ·
<u> </u>								:
		·	·					
		· · · · · · · · · · · · · · · · · · ·						
					<u> </u>			
1,77				. 4 .				
			- 1					
<u> </u>		· · ·						·
<u> </u>			5 .					
			:		I			
	1.3							

I

(1)

	Breakdown of Unit Price			
Furnishing and insta	Hing trashrack and accessories		· · · · · · · · · · · · · · · · · · ·	
F/C	0.90 USS/kg	1/C		
(Total	1.46 equiv.US\$/kg)			
1,000 kg basis		and the second s	, where the property of the state of the sta	
	CONTRACTOR OF THE CONTRACTOR O	A CONTRACTOR OF THE PARTY OF TH	namen valga karlanda karana karlanda di Arabaga karang karana karlanda di Araba karana karana karana karana ka	
	Furnishing and insta F/C (Total	Furnishing and installing trashrack and accessories F/C 0.90 USS/kg	Furnishing and installing trashrack and accessories F/C 0.90 USS/kg 1/C (Total 1.46 equiv.USS/kg)	Furnishing and installing trashrack and accessories F/C 0.90 USS/kg 1/C 0.56 USS/kg (Total 1.46 equiv.USS/kg)

Particular	Description	Unit	Q'ty	F/C Porti	on (US\$)	L/C Portion	
Latitolat				Unit cost	Amount	Unit cost	Amount
Labor							22.16
a) Foreman		m.d.	4.00		0.00	9.28	37.12
b) Operator A		m.đ.	2.00		0.00	10.60	21.20
c) Operator B		ın.d.	2.00		0.00	7.28	14.50
d) Mechanic		m.d.	5.00		0.00	7.28	36.40
e) Welder		m.d.	10.00		0.00	7.28	72.80
() Steel worker		m.d.	20.00		0.00	7.28	145.60
sub-total I					0.00	ļ	327.6
300 10411						 	
Material						 	··
a) Deformed bar		kg	1,050.00	0.43	451.50		52.5
b) Light oil		lit.	136.00	0.17	23.12	4	12.2
c) Lubricant	20 % of b)	L.S.	1.00		4.62		2.4
d) Miscellaneous	5%	L.S.	1.00		23.96		3.3
- 					503.20		70.5
sub-total 2			1				<u> </u>
		-					
3 Equipment	15 t	hr	16.00	13.34	213.4	3.33	53.7
a) Tuck crane, hyd.	131	 -	1		213.4		53.7
sub-total 3				 		-	
	050	L.S.	1.0	, 	179.1	6	112.5
4 Overhead	25%	L.3.			1		
	<u> </u>	 -			895.8	0	564.
Total			-		3,3.0	<u> </u>	
	<u> </u>				0.9	0	0.
Unit price for 1 kg		_		 		<u> </u>	
			_			-	<u></u>
			-				
					 		
· · · · · · · · · · · · · · · · · · ·							
					<u> </u>		ļ
				_	<u> </u>	<u>-</u>	ļ
					<u> </u>		<u> </u>
							
							ļ
							ļ
	1						<u> </u>
	-	-1					<u> </u>
	_1						T

No. 903		Breakd	own of Ur	it Price				
Work: Fr	amishing a	and installing steel m	esh cover			a good to a more the wide to the contract of t		•
Unit price:	F/C	2.49	USS/kg		L/C _	0.99	US\$/kg	
•	(Total	3.47	equiv.USS	Vkg)				
Remarks:	413.7	kg or 70 sq.m (=5.91	kg/sq.m x	7 sq.m/set) ba	asis		hermanian and pro- may	
	10	seis	4.43	kg/m of angle	steel			
							nangagagaga menangangan sak	
Particular		Description	Unit	Q'ty	F/C Porti	on (USS)	L/C Porti	on (US\$)
				AND AND A STATE OF THE PARTY OF THE	Unit cost	Amount	Unit cost	Amount
1 Labor								
a) Foreman			m.d.	3.00		0.00	9.28	27.84
b) Operator A			m.d.	0.50		0.00	10.60	5.30
c) Operator B			m.d.	0.50		0.00	7.28	3.64
d) Mechanic			m.đ.	4.00		0.00	7.28	29.12
e) Welder			m.d.	8.00		0.00	7.28	58.24
f) Steel worker			m.d.	15.00		0.00	7.28	109.20
sub-total l	: •					0.00		233.34
2 Material						!		
a) Expansion metal			sq.m	72.10	6.04	435.48	0.68	49.03
b) Angle steel			kg	511.67	0.50	255.84	0.06	30.70
c) Anchor bolt, M16		L=120mm	x.	100.00	0.67	67.00	0.08	8.00
d) Light oil	+ (lit.	34.00	0.16	5.44	0.04	1.36
e) Lubricant		20 % of d)	L.S.	1.00		1.09		0.27
f) Miscellaneous		5%	L.S.	1.00		38.24		4.47
sub-total 2					:	803.09		93.8.
			• : : : :			<u> </u>		<u> </u>
3 Equipment	1							
a) Tuck crane, hyd.		15 t	hı	4.00	13.34	53.36	3.33	13.3
sub-total 3						53.36		13.3
4 Overhead		20%	L.S.	1.00		171.29	 	68.10
						<u> </u>		
Total for	413.7	kg				1,027.74]	408.59
	7.	-3	1					·
				I		2 48	1 1	0.9

()

No. 904		Breakd	down of Ur	nit Price				
,								!
Work:		ed steel pipe, diam, 1 1/			dentification of the section of the	Mark of an analysis and	*****	Ī
Unit price :			3 USS/kg		. r.c	1.30	.US\$/kg	!
Remarks:		2,23						!
Kemarks:		0 m basis or	3.38	kg/m	0.13416 s	sq.m/m		1
 	333.00	kg basis			танцияна водинацияльно-ча	anderson complete a complete and a second co	CONTROL CONTRO	1
Particular	STATE STATE SECTION SE	Passinting	T	~~.	TO Dec	ACCOUNTS OF THE PARTY	-	
Patticulas	,	Description	Unit	Q'ty		tion (USS)		tion (US\$)
1. Labor		TOTAL PROPERTY THE PARTY OF	-	***************************************	Unit cost	Amount	Unit cost	Amount
a) Foreman				500	 		H	
b) Mechanic			m.d.	5.00	1	0.00	 	46.40
c) Welder			m.d.	10.00	1	0.00	 	72.80
d) Steel worker	!	 	m.d.	10.00		*0.00	 	72.80
sub-total 1		 	m.đ.	20.00	ı — — — — — —	0.00	 	145.60
Sub-total 2				/ 		0.00		337.60
2 Material			1		,——— <u>—</u>			
a) Steel pipe	-	diam. 1 1/4"	lin.m	103.000	2.22	228.66	0.25	25.75
b) Rust prevent pair	int	Craits, g 41 7	kg kg	2.950				25.75
c) Epoxy emulsion			kg	6.440	· · · · · · · · · · · · · · · · · · ·	3.92	0.15	0.44
d) Miscellaneous	Panis	5%	L.S.	1.000		16.29		1.87
sub-total 2			1.5.	1.000	,	12.44	ı 	1.40
300 som			1	`		261.31	r——	29.46
3 Overhead		20%	L.S.	1.00		52.26		73.61
) Ortina		200	1	1.00		52.26		73.41
Total for	338.00	h.,	1	·		212 57		40.47
1VIIII LU		lkg	 		/ 	313.57	/ 	440.47
Unit price for 1.1			1	/ 	1	0.03		1 20
	*6		1			0.93		1.30
		 	1				r 	
					;			
			1	,				
					; 			
			!	, 				
		<u> </u>	[
			f					
		<u> </u>	 		,			
 		<u> </u>	 					
	<u>.</u>						···	
		ł	 -					
		l						·
			·I	<u> </u>				·
			1					· · · · · · · · · · · · · · · · · · ·
		 !						
		 	1	···				
		l						
<u> </u>			 				<u> </u>	
<u></u>		<u> </u>	 					
	,	1 7	1 1		1	1	ı	



the same description of the sa	***********			CONTRACTOR OF THE PARTY OF THE				CONTRACTOR OF STREET
No. 905		Breakdo	wn of Un	it Price				
Work:	Galvanized	steel pipe, diam. 3/4"		and the second s	yllagoda (Milliania Milliania Milliania)			
Unit price :	F/C	1.24	US\$/kg		r/c ~	1.59	US\$/kg	
-	(Total	2.83	equiv.US\$	/kg)				
Remarks:		m basis or	1.68	kg/m	0.08546 s	q.m/m	*** * * ***	
	168.00	kg basis		en e				*
The state of the s			(1000) September 100 September	mentalist substitutions.				-
Particular		Description	Unit	Q'ty		ion (USS)		on (USS)
	Erstungspoter Statistics	engineeringi maryin siin maanaa maanaa kantaa ka 1900 ili			Unit cost	Amount	Unit cost	Amount
l Labor				·				· · · · · · · · · · · · · · · · · · ·
a) Foreman			m.d.	3.00		0.00	9.28	27.8
b) Mechanic		<u> </u>	m.đ.	6.00		0.00	7.28	43.6
c) Welder			m.d.	6.00		0.00	7.28	43.6
d) Steel worker			m.d.	12.00		0.00	7.28	87.3
sub-total 1		week to be the		:	<u> </u>	0.00		202.5
2 Material								
a) Steel pipe		diam. 3/4"	lin.m	103.000	1.48	152.44	0.17	17.5
b) Rust prevent pair	ot		kg	1.880	1.33	2.50	0.15	0.2
c) Epoxy emulsion	paint		kg	4.100	2.53	10.37	0.29	1.1
d) Miscellaneous		- 5%	L.S.	1.000		8.27		0.9
sub-total 2				· .		173.58		19.9
						·		
3 Overhead	·	20%	L.S.	1.00		34.72		44,5
			1. 15.					<u> </u>
Total for	168.00	kg	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			208.30		266.9
	<u> </u>		1.1.1					
Unit price for 1 !	kg				ļ	1.24		1.5
	· ·	1. 17			 	·		
				·	*			
						 		
			<u></u> .	<u></u>			 	
				,	 		ļ	
	- 				<u> </u>			
							 	····
			<u> </u>			<u> </u>		
							 	
		<u> </u>	ļ	· · · · · · · · · · · · · · · · · · ·			<u> </u>	
			<u> </u>				 -	
	<u> </u>	<u> </u>					ļ	
1 4	i. 			<u> </u>			<u> </u>	·
	4.		 					
	<u> </u>	1 11 1	<u> </u>					
	<u> </u>							<u> </u>
		ļ	- 1111					
		1		4 - 4 - 4 - 5 - 5 - 5 - 5 - 5 - 5 - 5 -				

No. 906		Breakdo	wn of U	nit Price				
	r (.34.4.							i
Work:	Embedded r		110¢0. –		1 10	A 41	TICAN.	
Unit price:	F/C		US\$/kg equiv.US\$	(Ma)	DC _	0.41	US\$/kg	
.	(Total)	1,14	equiv.05:	vrg)				1
Remarks:	1 ton basis						-	l
		age. Nation, was proportion to transcent a Maria consider Communities deviled	and the state of t		The state of the s	aran marandari (Militari il Ro	7-3-4-4-m	
		Description	I lais	0'	E/C Dard	ion (HCC)	I /C Dave	(121)
Particular	• 1	Description	Unit	Q'ty	Unit cost	ion (US\$) Amount	Unit cost	ion (US\$)
			volte solgot/priviles/veget	ing the light paper to be the first of the f	One Cost	ZURUM	CHR COST	Amount
1 Labor		- 		100				0.20
a) Foreman			m.d.	1.00		0.00	9.28	9.28
b) Mechanic			m.d.	5.00		0.00	9.28	46.40
c) Welder			m d	10.00		0.00	9.28	92.80
d) Steel worker			m.d.	15.00	· · · · · · · · · · · · · · · · · · ·	0.00	7.28	109.20
sub-total 1				·		0.00		257.68
2 Material				1 020 00	0.50	515.00		
a) Angle steel			kg	1,030.00	0.50	515.00	0.06	61.80
b) Reinforcing bar		deformed	kg	100.00	0.43	43.00	0.05	5.00
c) Miscellaneous		5%	L.S.	1.00		27.90		3.34
sub-total 2						585.90		70.14
3 Overhead		25%	L.S.	1.00		146.48		81.96
						722.00		
Total for 1 ton						732.38		409.78
				<u></u>				
Unit price for 1	Kg		1 2 2	· · · · · ·		0.73		0.41
				· · · · · · · · · · · · · · · · · · ·		· · · · · · · · · · · · · · · · · · ·		
				P				
			<u> </u>			· ·		
		<u> </u>						1
		·						
	 -		l -	<u> </u>		<u>-</u>		
	<u>.:</u>					 	·	
				 				
								
	 							
	····							
l <u></u>								
				l				
				 			. <u></u>	
								
<u> </u>						<u> </u>	1 1	
	· · · · · ·		<u> </u>	ļ				
] ——					
			<u> </u>	 				
l		T		1			ş ;	

No. 907	,	Breakd	own of Un	it Price				**:
Work:	Sicel net fe	nce, H=2.5m						
Unit price:		The state of the s	US\$/m2	destination alleines and a second second	L/C	2.21	USS/m2	•
out price :	(Total	12.70	equiv.US\$	/m2)		THE PERSON NAMED OF PERSON NAMED AND POST OF THE PERSON NAMED AND POST OF		
Remarks:		m basis or		,				
		sq.m basis				The second se		
,			AND THE PERSON NAMED IN	<u> </u>	enger ve somme bredhever verdinder i	gagagagaga gaga sawarin na manada		•
Particular		Description	Unit	Qty	F/C Port	ion (US\$)	L/C Port	tion (US\$)
					Unit cost	Amount	Unit cost	Amount
1 Labor	Programme and the second	enem de sentración de la composition della compo	-	MARKAGON AND AND AND AND AND AND AND AND AND AN	<u> </u>		ALTERNATION TO THE STREET	programming of the Third of the Control of the Third of the Control of the Contro
a) Foreman			m.d.	3.00		0.00	9.28	27.8
b) Mechanic			m.d.	5.00		0.00	7.28	36.40
c) Welder			m.đ.	2.00		0.00	7.28	14.50
d) Steel worker			m.đ.	20.00	.:	0.00	7.28	145.60
sub-total I						0.00		224.4
2 Material				. 1				
a) Angle steel			kg	184.58	0.90	166.12	0.06	11.0
b) Fence		:	lin.m '	100.00	19.15	1,915.00	2.13	213.00
c) Miscellaneous		5%	L.S.	1.00		104.06		11.20
sub-total 2						2,185.18		235.2
				: .				
3 Overhead		20%	L.S.	1.00		437.04		91.9
	+1							
Total for	250	m2			1.0	2,622.22		551.60
	1 1							
Unit price for 1 n	n 2					10.49		2.2
				· · · · · · · · · · · · · · · · · · ·		·		
	:			<u> </u>	· .			:13
	<u> </u>			<u></u>	· : : :			
								:
								
			ļ <u> </u>					
. <u></u>	<u> </u>	:		: :				
<u> </u>			:					· · · · · · · · · · · · · · · · · · ·
	<u> </u>							
·			- 					
	1.							
			<u> </u>	 -				
			 					·
				<u> </u>				
	<u></u>	· · · · · · · · · · · · · · · · · · ·	 			· · · · · · · · · ·		
	· · · · · · · · · · · · · · · · · · ·		<u> </u>					
			_	 			- : - '	
	· · ·							
				<u> </u>				
	:							
·]					<u> </u>



No. B-1		Breakdown of Unit Price		
Work:	Temporary bridge	construction, steel		tan kalan mana kala kala kala kala kalan kal
Unit price:	F/C	207.16 US\$/sq.m	IJC	37.81 US\$/sq.m
	(Total	244.97 equiv.US\$/sq.m)		
Remarks:	15 m basi	s (3 spans x 5m/span)		and the contract of the contra
	4 m in w	ridth basis		

to the first of the second of

Particular		Description	Unit	Q'ty	F/C Port	ion (US\$)	L/C Portion (US\$)	
					Unit cost	Amount	Unit cost	Amount
t Labor								
a) Foreman			m.d.	10.00		0.00	9.28	92.80
b) Operator A			m.d.	3.60		0.00	10.60	38.16
c) Operator B	·		m.d.	3.60		0.00	7.28	26.21
d) Steel worker			m.d.	30.00		0.00	7.28	218.40
e) Common labor			m.d.	60.00		0.00	4.64	278.40
sub-total l						0.00		653.97
<u> </u>		· · · · · · · · · · · · · · · · · · ·	 _					
2 Material			.					
a) H-shape steel, p	le	5 times use	ton	15.26	532.35	8,123.66	59.15	902,63
b) H-shape steel, be	am	5 times use	ton	1.04	532.35	553.64	59.15	61.52
c) Angle steel	:	5 times use	kg	352.32	0,50	176.16	0.06	21.14
d) Steel ckeckered	deck plate	5 times use	kg	21.24	0.69	14.66	0.08	1.70
e) Miscellaneous (a	1-c)	10%	L.S.	1.00		886.81		98.70
f) Light oil		<u></u>	lit.	1,834.80	0.16	293.57	0.04	73.39
g) Lubricant		20 % of f)	LS.	1.00		58.71		14.68
sub-total 2						10,107.21		1,173.76
								<u> </u>
3 Equipment						<u></u>		
a) Hydraulic pile d	river	4-5 t	hr	16.00	6.33	101.28	1.58	25.28
b) Truck crane, hyd	J	15 t	hr	8.00	13,34	106.72	3.33	26.64
c) Diesel generator		20 kVA	day	6.00	7.10	42.60	1,78	10.68
sub-total 3			3-1			250.60		62.60
4 Overhead		20%	L.S.	1.00		2,071.56		378.07
Total for	60	sq.m				12,429.37		2,268.40
						<u> </u>		<u> </u>
	-						 	
Unit Price		· i	_			207.16		37.81
			<u> </u>					
								<u> </u>
								· .
			:		<u> </u>	, 		
1 1					l			
		L						
l								

20				A STATE OF THE PARTY OF THE PAR		THE CONTRACT OF THE PARTY.	CALL STATE OF THE	A STATE OF THE PARTY OF THE PAR	3-43-003-Ca. 1, 1 304, 401 - 54
	No. B-2		Breakdo	wn of U	alt Price				
	Work:		bridge construction, c	oncrete sla	ь	- Named and the Challen and the singular site.		:	* :
	Unit price:	F/C	441.84	US\$/unit		νc	183.10	US\$/unit	:
		(Total_	624.94	equiv.US	S/unit)				
	Remarks:	Contract the second second second	unit basis (30 cm thic	k x 3 m lo	ng x 4 m wid	c)			
		3.6 c	cu.m basis		ak padha Seria in menandalah Laman			والمنافعة البدارين ومحمد سواري	
CT-C'A				# 1 - : A	O'	**************************************	(UCS)	I /C Don	tion (US\$)
	Particular	1	Description	Unit	Q'ty	Unit cost	ion (US\$) Amount	Unit cost	
	Concrete, type 1			cu.m	3.60	62.89	226.40	28.44	102.38
<u>.</u>	Coixiele, type 1		(Ref.to No.501)		3.00	02.07	2 20. 40		
			(ittilo troisor)						
2	Foemwork F2			sq.m	12.90		0.00		0.00
-			(Ref.to No.507-2)						
								: - 1 .	
3	Reinforcing bars		1 4	kg	360.00	0.54	194.40	0.20	72.00
			(Ref to No.508)						
		:		1. 1					
4	Installation		5%	L.S.	1,00		21.04		8.72
			(5% of 1 to 3)				i		
			<u></u>						
									
	Total for	1 1	unit			· · · · · ·	441.84		183.10
							441.84		183.10
	Unit price for 1 1	unit		ł			441.64		103.10
-	<u>. 174 - 1</u>								
<u>.</u>			<u></u>				<u> </u>		
					:			·	······
								,	
_			: .	,					
_									
_	<u> </u>			· .					
					:				
_				 	 			ļ	
	· · · · · · · · · · · · · · · · · · ·			<u> </u>	<u> </u>				
	:		. <u></u>	 -					<u> </u>
					1.74	<u> </u>		}i	
_	· · · · · · · · · · · · · · · · · · ·		<u> </u>	 			<u> </u>		
	 				1 1			 	
-				1	 	1			
<u> </u> -				1				<u> </u>	
-				<u> </u>					
4			I	1					



	No. B-3		Breakdo	wn of U	nit Price				
	3371	T							
	Work: Unit price:		relocation road	US\$/m2	Andreas (1)	L/C	6.37	11SS/m2	·
	Out price:	(Total	10.69 17.06		\$/m2}		V.J1	0337111	
	Remarks:		m2 basis	(40111.00	×111.4)				
•								American Services of the Contract of the Contr	
		-	alemania manana dia matematika dia matematika dia matematika dia matematika dia matematika dia matematika dia m	Marie Company of the	ar serieburear erar (LTC) (14/0a)s-	To be Tamb marin any or Smarin marin marin	inera, menima nenderrolmen er meller institutionische		
PHOTO:	Particular		Description	Unit	Q'ty	F/C Port	ion (US\$)	L/C Port	ion (US\$)
				e descript The Conference	COCCUMENTALISMEN	Unit cost	Amount :	Unit cost	Amount
l	Stripping			cu.m	100.00	0.86	86.00	0.47	47.00
_			(Ref. to No.212)						
						<u> </u>	<u> </u>		
2	Embankment			sq m	100.00	3.53	353.00	2.34	234.00
			(Ref. to No. 215)						
	:								
3	Sub-base courts	e		cu.m	20.00	6.30	126.00	2.80	56.00
	·	<u> </u>	(Ref.to No. 601)		 	<u> </u>			
					15.00	9.60	1446	400	
4	Base course		(Ref.to No. 602)	cu.m	15.00	9.00	144.00	4.00	60.00
-	· · · · · · · · · · · · · · · · · · ·		(Ref.10 No. 002)	-					
5	Surface course			sq m	100.00	3.60	360.00	2.40	240.00
,	Sollace Course		(Ref. to No. 603-1)		100.00	3.00	500.00	2.40	210.00
			(101.010.0031)			:			
									2.0
	Total for	100	m2 basis			l	1,069.00		637.00
_									1.
	Unit price for 1	m2					10.69		6.37
	· · · · · · · · · · · · · · · · · · ·								
_				<u>_</u>					
	. ·	·	· · · · · · · · · · · · · · · · · · ·						
							: 		
		· · · · · · · · · · · · · · · · · · ·		ļ. ————				 	
-			· · · · · · · · · · · · · · · · · · ·					}	· ·
				ļ <u>.</u>					
-							7.		
-		<u> </u>			-				
		<u> </u>		 					
-		<u> </u>		 					
								111	
					1				
-					<u> </u>	:		<u> </u>	
İ									

No. B-4		Breakdo	wn of Un	it Price					
Works	ra of sinte	er for bridge construct	ian Darke	ee 1					
Work: <u>Ca</u> Unit price:	F/C	4,987.00		2	L/C	4,060.00 1	US\$1.S.	1.	
omebige;	(Total			VLS.)		The Part of the Pa		1	
Remarks:	-	day basis for one site	. 42246003	· - /					
many particle grade is garage		days per unit in princi	pal					;	
-		- I was a second				non anti-man parameter as an anti-man destroy in the Port		Secretary balance and a secretary	
Particular	~~	Description	Unit	Q'ty		tion (US\$)		tion (USS)	
CONTRACTOR OF THE CONTRACTOR O	Married		-		Unit cost	Amount	Unit cost	Amount	
1 Labor				1	LI				
a) Foreman		:	m.d.	0.20		0.00	9.28	1,80	
b) Mechanic		: 	m.d.	0.20		0.00	9.28	1.80	
c) Common labor		· · · · · · · · · · · · · · · · · · ·	m.d.	1.00		0.00	4.64	4.6	
sub-total I		-				0.00		8.30	
			:					 	
2 Material									
a) Light oil			lit.	27.40	1	4.38	0.04	0.23	
b) Lubricant		20 % of a)	L.S.	1.00		0.88 5.26		1.3	
sub-total 2					 	3.20		1.3	
2 P					 		 		
3 Equipment		2 in	day	2.00	0.29	0.58	0.07	0.1	
a) Submersible pump		2 in 4 in	day	2.00	l	1.90	0.24	0.4	
b) Submersible pump c) Diesel generator	<u>-</u>	20 kVA	day	1.00	1	7,10	1.78	1.7	
sub-total 3		LYKTA	<u>~"/</u>			9.58		2.4	
300-cotar 3						,			
4 Overhead		20%	L.S.	1.00		2.97		2.4	
Total for dewatering	g per day					17.81		14.5	
							<u> </u>	<u> </u>	
						\			
Unit Price							<u> </u>		
Dewatering			day	280,00	f	4,987.00	14.50	4,060.0	
10	days x	28	sites =	280.00	days	ļ			
	<u> </u>				ļi		 		
			 -		 				
Dewatering for Pa			day	50.00		890.00	14.50	730.0	
10	days x	5	sites =	50.00	days	ļ	-	<u> </u>	
	· · · · · · · · · · · · · · · · · · ·		<u> </u>		-	ļ	 	<u>-</u>	
				220.0-		410000	14.50	3,340.0	
Dewatering for Pa			day	230.00		4,100.00	14.50	3,340.0	
10	days x	23	sites =	230.00	Cays			<u> </u>	
		<u> </u>		I	<u> </u>			1	
					 			<u> </u>	
<u> </u>			 	1 1	1	 			
<u> </u>			 	 	1		 		
				 	1				
		<u> </u>	Į		1	 	 		

No. B-5	B-5 Breakdown of Unit Price							
Work: (Care of Wali	er for bridge construc	ation Darks	- ^ 2				J
Unit price :	F/C		CHON, PACKA O USS/L.S.	186 T	L/C	725.00	USS/L.S.	
. •	(Total	The second section of the second section of the second section of the second section s	0 equiv.US\$	\$/L.S.)	*	A P C C C C	Oggres.g.	I
Remarks:	-	day basis for one site	-					j
		days per unit in princ	والمستنف والمؤسنونان والوائز المستدان					1
errenanderske errenanderske errenanderske errenanderske errenanderske errenanderske errenanderske errenandersk								
Particular	1	Description	Unit	Q'ty	The second secon	tion (US\$)		tion (US\$)
1 Labor		METANIA TERRETARIS DE LIBERTO (COME DE LE MINISTE	-		Unit cost	Amount	Unit cost	Amount
a) Foreman			m.d.	0.20	l		0.70	106
b) Mechanic			m.d.	0.20		0.00	9.28 9.28	1.86
c) Common labor			m.d.	1.00	 	0.00	9.28 4.64	1.86
sub-total 1			latige.			0.00	4.07	4.64 8.36
2 Material		· · · · · · · · · · · · · · · · · · ·						
a) Light oil			lit.	27.40	0.16	A 38	004	
b) Lubricant		20 % of a)	L.S.	1.00	· · · · · · · · · · · · · · · · · · ·	4.38 0.88	0.04	1.10
sub-total 2		20 % 0,	1			5.26		0.22
			 					1.32
3 Equipment								
a) Submersible pump		2 in	day	2.00	0.29	0.58	0.07	0.14
b) Submersible pump		4 in	day	2.00	0.95	1.90	0.24	0.48
c) Diesel generator		20 kVA	day	1.00	7.10	7.10	1.78	1.78
sub-total 3						9.58		2.40
4 Overhead		20%	L.S.	1.00		2.97		2,42
			1.					
Total for dewaterin	ig per day					17.81		14.50
		<u> </u>						
						<u> </u>		
Jnit Price			 -					
Dewatering			day	50.00		891.00	14.50	725.00
	days x	5	sites =	50.00				
·			-					
								·
		<u></u>	-					
						<u> </u>		
			-		 -			
			<u> </u>					
								
			1					<u></u>
								
			 -		-			

No. B-6		Breakdown of Unit Price		:
Work:	Care of water for	bridge construction, Package 3		
Unit price:	F/C	4,096.00 US\$/L.S.	L/C	3,335.00 US\$/L.S.
	(Total	7,431.00 equiv.US\$/L.S.)		
Remarks:	l day b	asis for one site		
	10 days	per unit in principal		

Particular	Description	Unit	Q'ty		ion (USS)		ion (USS)
, pagri, 200 de maio distributa antica mercana anti-ari proprie del principale de la principale de la Polita de principale			ally a Tribute Control Style	Unit cost	Amount	Unit cost	Amount
1 Labor							
a) Foreman		m.đ.	0.20		0.00	9.28	1.80
b) Mechanic		m.d.	0.20		0.00	9.28	1.80
c) Common labor		m.đ.	1.00		0.00	4.64	4.6
sub-total 1					0.00		8.3
2 Material		:					·
a) Light oil		lit.	27.40	0.16	4.38	0.04	1.1
b) Lubricant	20 % of a)	L.S.	1.00		0.88		0.2
sub-total 2		<u> </u>			5.26		1.3
				<u> </u>			
3 Equipment							Ş -
a) Submersible pump	2 in	day	2.00	0.29	0.58	0.07	0.1
b) Submersible pump	4 in	day	2.00	0.95	1.90	0.24	0.4
c) Diesel generator	20 kVA	day	1.00	7.10	7.10	1.78	1.7
sub-total 3					9.58		2.4
			4 To 14		:		
4 Overhead	20%	L.S.	1.00		2.97		2.4
						10	
Total for dewatering per day					17.81		14.5
Unit Price			:				
Dewatering		day	230.00	17.81	4,096.00	14.50	3,335.00
10 days x	23	sites 🕶	230.00	days			
		<u> </u>					
		<u> </u>					
, —— - · · - · · · · · · · · · · · · · ·							
<u> </u>							
1	<u></u>						
							
			· · · · · · · · · · · · · · · · · · ·				



No. B-7		Breakdown of Unit Price		
Work:	Dewater for dum	p fill embankment, Package 2		
Unit price:	F/C	5,737.00 US\$/L.S.	I/C	2,871.00 US\$/L.S.
	(Total	8,608.00 equiv.US\$/1S.)		
Remarks:	l day b	asis for one site (100 m basis)		
	4 days	per unit in principal		

en en la companya de
Particular	Description	Unit	Q'ty	Andrea of the Party State of the	on (US\$)	L/C Porti	
				Unit cost	Amount	Unit cost	Amount
1 Labor						<u> </u>	
a) Foreman		m.d.	0.20		0.00	9.28	1.8
b) Mechanic	. <u></u>	m.d.	0.20		0.00	9.28	1.8
c) Common labor		m.d.	1.00		0.00	4,64	4.6
sub-total l					0.00		8.3
			<u> </u>		: 		
2 Material						<u> </u>	
a) Light oil		lit.	76.80	0.16	12.29	0.04	3.0
b) Lubricant	20 % of a)	L.S.	1.00		2.46		0.6
sub-total 2					14.75		3.6
				<u> </u>			
3 Equipment					: :		
a) Submersible pump	2 in	day	2.00	0.29	0.58	0.07	0.1
b) Submersible pump	6 în	day	6.00	1.26	7.56	0.31	1.8
c) Diesel generator	60 kVA	day	1.00	10.31	10.31	2.58	2.5
sub-total 3					18.45		4.5
							* *
4 Overhead	20%	L.S.	1.00		6.64		3.3
Total for dewatering per day					39.84		19.9
Unit Price	[<u> </u>					· · · · · · · · · · · · · · · · · · ·
Dewatering		day	144.00	39.84	5,737.00	19.94	2,871.0
4 days x	36	sites =	144.00	days			
<u> </u>		 					
<u> </u>	<u></u>						
			ļ <u></u>				
<u> </u>							
		<u> </u>		<u> </u>			
		<u> </u>					
		1	: -				
				[





No. B-8		Breakd	own of Un	it Price				
Work:		l sheet pile,U-type II.						
Unit price :	F/C	7.35	U\$\$/m2		νc	2.64	US\$/m2	
	(Total	9.99	equiv.US\$	/ m2)				
Remarks:	50 1	nos, basis or	6:	m pile		ann ann maisir macannair is i ann aite An Faille.		
	120.00 1	n basis with pile head	treatment		0.40 r	n wide	Terres in a result to the last	
				CALL DESCRIPTION OF THE PERSON	CA D.	**************************************	L/C David	in a disch
Particular		Description	Unit	Q'ty	Unit cost	ion (US\$) Amount	Unit cost	ion (US\$) Amount
1 Labor	DE TAMES CONTRACTOR PROPRIO DE							
a) Foreman			m.d.	1.00		0.00	9.28	9.28
b) Operator A		<i>'</i>	m.d.	2.40		0.00	10.60	25.44
c) Operator B			m.đ.	2.40		0.00	7.28	17.47
d) Rigger			rn.d.	2.00		0.00	9.28	18.56
e) Common labor			m.đ.	2.00		0.00	4.64	9.28
sub-total I						0.00		80.03
2 Material			. :					
a) Light oil			tit.	82.40	0.16	13.18	0.04	3.30
b) Lubricant		20 % of a)	L.S.	1.00		2.64		0.66
sub-total 2						15.82	1	3.90
3 Equipment			e .				:	
a) Self-climbing di	river	90 t	hr	8.00	76.62	612.96	19.15	153.20
b) Self-climbing co		7 t	hr	8.00	13.34	106.72	3.33	26.6
sub-total 3						719.68		179.8
4 Overhead		20%	L.S.	1.00		147.00		53.0
								. :
Total for	120	m2 basis				882.50		316.8
Unit price for 1	m					7.35		2.6
			77.					
<u> </u>			j					
								
			l					
			1					
			1					
1								
	1.			l <u></u>				
			1 1 1 1					
ļ			1		 			

No. B-9		Breakd	SOWN OF UN	il Price				į
331	Europaina e	teel sheet pile.U-type	- 17 W.400π	nm				
Work : Unit price :		4.90		(11)1 (11)1	νc	1.76 \	JS\$/m2	i
om pice.	Clotal	6.66	s equiv.US\$	/ m2)	en-			
Remarks:	75 (nos, basis or	- · 6:	m pile				
666137122112	The second name of the last of	m basis with pile hea	d treatment		0,40 ก	n wide		1
	Name and Address of the Owner, where the Owner, which is the Owner, where the Owner, which is the Owner, where the Owner, which is the Owne							
Particular		Description	Unit	Q'ty		ion (US\$)	L/C Porti	
					Unit cost	Arnount	Unit cost	Amount
1 Labor			.					
a) Foreman			m.d.	1.00		0.00	9.28	9.28
b) Operator A			m.d.	2.40		0.00	10.60	25.44
c) Operator B			m.d.	2.40		*0.00	7.28	17.47
d) Rigger	·		m.d.	2,00		0.00	9.28	18.56
e) Common labor			m.d.	2.00	 	0.00	4.64	9.28 80.03
sub-total I				·		0.00		80.03
			_		 			
2 Material				02.40	 	13.18	0.04	3.30
a) Light oil			lit.	82.40	 	2.64	0.04	0.66
b) Lubricant		20 % of a)	L.S.	1,00		15.82		3.96
sub-total 2	·					13.04		
	 -		-	 				
3 Equipment		90 t	- hr	8.00	76.62	612.96	19.15	153.20
a) Self-climbing of b) Self-climbing of the boundaries of the boun		71	hr	8.00	1	106.72		26.64
sub-total 3	CEAIRC				1	719.68		179.84
\$00.10(4) 3		/ :						
4 Overhead		20%	L.S.	1.00		147.00		53.00
		: .						<u> </u>
Total for	180	m2 basis				882.50		316.83
				<u> </u>				
Unit price for	l m			ļ.,,		4.90		1.76
								
·	· .			. - 				
								
				<u> </u>				
	· · · · · · · · · · · · · · · · · · ·			-	<u> </u>	<u> </u>	- 	<u> </u>
·	<u> </u>			 -	-		-	
		_		-			 	
	<u> </u>		[·				
		.·			<u> </u>	100		
		_		-[1	<u> </u>
I	<u></u>			-		 	-	
	<u> </u>			-[
<u> </u>	<u> </u>	 						
	T : :			- 	. :		1	
			_					

and suggestion of the second o

DATE OF THE STATE	
Work: Driving steel sheet pile, YSPF, W-400mm	4
Unit price: F/C 4.61 US\$/m2 L/C 1.63 US\$/m2	1 a 1 a 1 a 1 a 1 a 1 a 1 a 1 a 1 a 1 a
(Total 6.24 equiv.US\$/ m2)	
Remarks: 50 nos. basis or 9 m pile	
180.00 m basis with pile head treatment 0.40 m wide	,
September of the comment of the comm	•
Particular Description Unit Q'ty F/C Portion (US\$) L/C Po	rtion (US\$)
Unit cost Amount Unit cost	Amount
1 Labor	
a) Foreman m.d. 1.00 0.00 9.28	9.28
b) Operator A m.d. 1.92 0.00 10.60	20.35
c) Operator B m.d. 1.92 0.00 7.28	13.98
d) Rigger m.d. 2.00 0.00 9.28	18.50
e) Common labor m.d. 2.00 0.00 4.64	9.28
sub-total 1 0.00	71.45
	1 +
2 Material	
a) Light oil lit. 76.00 0.16 12.16 0.04	3.0
b) Lubricant 20 % of a) L.S. 1.00 2.43	0.61
sub-total 2 14.59	3.65
3 Equipment	
a) Hydraulic pile driver 4-5 t hr 8.00 76.62 612.96 19.15	
b) Truck erane, hyd. 15 t hr 4.80 13.34 64.03 3.33	
sub-total 3 676.99	169.11
4 Overhead 20% L.S. 1.00 138.00	49.00
Total for 180 m2 basis 829.58	293.2
	
Unit price for 1 m 4.61	1.6
	
	
	
	·
	
	·
	
	
	T

()

No. B-11	o. B-11 Breakdown of Unit Price								
Work:	Furnishine	steel sheet pile. U-typ	e II. W=40	Omm					
Unit price :	F/C:	F/C: 64.70 USS/m2			L/C: 7.20 US\$/m2				
		(Total: 71.90 equiv.US\$/m2)							
Remarks:	1	1 m2 basis							
								ACHERON OF POST MONEY	
Particular		Description	Unit	Q'ty	F/C Portion (US\$)		L/C Portion (US\$)		
l Material			anna eren siasi	Parkers and March College Street, Brack	Unit cost	Amount	Unit cost	Amount	
a) Sheet pile, YS	PF	W=400mm	sq.m	1.00	53.92	53,92	6.00	6.00	
sub-total						53.92		6.00	
				· · · · · · · · · · · · · · · · · · ·				:	
2 Overhead .		20%				10.78		1.20	
	<u> </u>								
Total for	· · · · · · · · · · · · · · · · · · ·	sq.m				64.70		7.20	
								:	
Unit price for	l no.					64.70		7.20	
·									
	<u> </u>					<u></u>			
		· · · · · · · · · · · · · · · · · · ·							
				1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	·				
			<u>. : · · · · · · · · · · · · · · · · · · </u>					<u> </u>	
								<u>'</u>	
			 						
	1 1		<u> </u>	<u> </u>					
			<u> </u>	· · · · · · · · · · · · · · · · · · ·			· · · · · · · · · · · · · · · · · · ·		
							<u></u>	<u> </u>	
			İ					· · · · · · · · · · · · · · · · · · ·	
			<u> </u>	<u> </u>	:			-	
·	+ * · .		<u> </u>						
	· · · · · ·			13					
					,				
						7. T			
<u> </u>	· · · · · · · · · · · · · · · · · · ·			1 1 1					
	····································		1					<u> </u>	

•

